Solving two step equations
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a)2x+5=9 d)7x —5 =44
Xx=2 x=7
b) 2x — 8 = e)9x —2 =52
§ x=8 X=6
gqsx—1=14 .............. T
§ x=5 a=12
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gg+3= N3-5=
x=20 x =28
h)>+3= Ks+7=
: Xx=12 a=-32
g”f+4= NE—-4=6
| x=8 h=110
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{ pp—— ‘ dtff; ........................
i m) z = 0) - 7
x=1 a=53
. o ——— x+2 .....................................
n) = 3 p) T - —4
x=11 x=-18
( ........................................................
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Exam question:
The diagram is a square with its dimensions shown.
Find the value of x.

11x+ 5=38
11x = 33
x=3
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11x+5




